Math 3201 Chapter 9 Review Name:
Partl: Multiple Choice. Place the correct answer in the corresponding blank at the
end of this section.
S eple Co MPOw ~A_
Formulae: A=P(+rt) A=PQ+D)"

1. Tim borrowed $1000. How much will he pay back in 3 years if he is charged

4% simple interest? /L\ - E\ 4+ D.0AC 33—& — <$H QD
1120 (C) $1124.86 (D) $2200
2. Karen borrowed $2000. How much will she pay back in 1 year if she 1s charged

2% compounded semi-annually? A 2 ) O[ -l—-O O& = Qt& bA(D &D

@2040.20 02 (D) $2880

3. The interest rate on a loan shown in the chart below is 6.6% compounded monthly.
How much of the second payment is the interest toward the loan?

(A) $1040

(B) $2080 (C) $2080.80

oo romen| P | e | %400 -$2(3 4
(month) (3) (3) () — -
0 7000 ~— i%@,-‘) \
1 400 361.50 6638.50
2 400 363.49 6275.01
3 400 365.49 5909.52
(A) $34.51 36.51 (C) $38.50 (D) $109.52

4. 312 semi-monthly payments are required to pay off a loan. ’%( 3

How many years does this represent? ,a A‘_
@3

(D) 26
5. A =3000(1.04)1° represents a bank loan that is compounded semi-annually.
What is the interest rate?

RN

(A)8 (B) 12

(A) 2% (B) 4% @% (D) 16%
U ]f's‘_ Do4A %2
[ 4 -
( \ —= O-DQé>
(=0.04

ov C@/\)



6. A credit card offers no interest no payments for 12 months.
You make a purchase of $2500. You make monthly payments of $200 during the
first year. In order to avoid an interest penalty, what would your 12th payment need

to be? R 206X |\ = TR0 . dS‘soo %c \est pﬂymfpj‘
(A) $12.50 (B) $100 (C) $208.33 /@300

Answers to multiple choice.

PartIl: Constructed Response. Answer each question in the space provided. Show all
workings.

7. Vicky wants to borrow money for a trip. Her bank will charge 4.3% compounded
quarterly. Vicky wants to pay off the loan in 21months with one payment of

$10 000. ’%

(A) What is the most that she can borrow? |DbDO = P< \.o \OQQB
f\"—-IDDo‘D [pODO = ’O?'—-}lp

(0043 -p optg I eRAR
P=39219.02

Nn= [.FS % 1(—:7——

(B) How much interest will she pay?

f IDODO .0

£330 9%




The interest rate on a credit card is 19% compounded monthly.
Elizabeth made a $2500 purchase and plans on making maximum
payments of $600 until the balance is paid off. Complete the amortization table.

Psyme(lj‘lt Payment | Interest | Principal Balance ( — O (b{ _
monthy | &) | Paid($) | Paid(®) | (9) — X 'Zodly
|
0 2500 \ ‘QSODKO,Q\§
' 0 R Zo |5p.50 4R350 = RY.50
’ 0 =R B % 3o 4] Goo.on
3 $600 Al.65 "—DRB‘; ':[t(.‘(}a\ - %"’( S0
4 $600
3.d3% 20k 5y © 2560
00.00
— 560.50
(A) What was the final payment made in the 5% month? j‘ \ Q\'SC( . l; O

i%ﬁ%.%g

(B) What was the total interest paid?

£ 10153



10.

Tammy signed up for a special offer when she brought a new TV. There were no
payments and no interest for 12 months, as long as she paid the balance of $3400 in
full by the end of the first year. Otherwise a penalty equal to an interest rate of 26%,
compounded monthly, on the full balance would be charged, starting from when she
first borrowed the money.

(A) If Tammy missed the deadline by one day, what would she have to pay?

A= 3deo (1 k 03u\™™
¥ ( ’\—58 ~t43¢11%5r

(B) What would the penalty be?

$ 390 24 —$34e0= $97L34

Steve is unsure whether to buy or lease a new vehicle. .__# .

-
A 2014 Honda Civic Coupe costs $26 710 including taxes to buy. ‘e

There is 0% interest and $0 down payment for 5 years

(A) What would be the monthly payment? S5X¥I=Z 6O

$AAFIo —
e RA44C 1

(B) You can lease for $150 biweekly but it requires a $3000 down payment.
What would be the total cost of leasing ?

$15 5%AL %5 = 1550 4200623 250D 5O

(C) Provide two reasons for leasing a vehicle over purchasing.

s Neww Uehicle P\frj B Y \je@fg

* L\)AYV(A\,\_

» 65 tor acc Ap“‘\‘\\“c-\urv\ vewidle  whew lese 1S WP,



11. Elijah takes out a 25 year mortgage for $350000 at a rate of 4.25% compounded
monthly. He makes a down payment of $20000 and regular monthly payments.

(A) Complete the following graphing calculator screenshot for this information.

N= 25 X193= 3D

N=300 €350 poo
Ix’b—ﬂ'.&j $ 9\0 560

PV=330 60

PMT =y

FV=0 £33 060

PIY= |
ClY = 2

\
PMT: El%D BEGIN
N—

(B) Suppose the following values are obtained using the graphing calculator:
PMT =-1787.74

By the time is mortgage is paid off, how much interest will Elijah have paid?

I L L& <200 = $53L 3200

B53L337.00
$ 330 000 .00

$A0 b 3360




